@ Wunderlich

complete your BMW.

. e (N
=1

i
Lampenmaske Headlight fairing Carena per faro Carénage de phare Careando frontal

Art.Nr.: 3047 1-xxx

MONTAGE BEI R NINE T, SCRAMBLER UND PURE IDENTISCH!
BEI DER MONTAGE ODER AUSRICHTUNG DER HALTER NIEMALS ALLE SCHRAU-
BEN DER GABELBRUCKE GLEICHZEITIG LOSEN.

Mounting R Nine T, Scrambler and Pure identical!
Attention: do never loosen all M8 screws of top yoke at the same time, while mounting or
adjusting the holder.

M8x45 M8x45

News, Shop, Downloads + Informationen: Catalogue download (English): Download catalogo (italiano): Télécharger les catalogues (francais): Descargar los catalogos (espanol):
www.wunderlich.de www.wunderlich.de/en www.wunderlich.de/en www.wunderlich.de/en www.wunderlich.de/en
Kataloganforderung + Downloads: General information, dealers and news: Informazioni generali, dealer e Novita: Informations générales et distributeurs: Informaciones generales, tiendas y noticias:
www.wunderlich.de/Katalog www.wunderlich.de/en http://www.wunderlich.de/en www.wunderlich.de/en www.wunderlich.de/en



Anbauanleitung | Fitting Instruction | Istruzione | lnstructionsi Instrucciones

COPYRIGHT BY WUNDERLICH @ Wunderlic}f

WWW.WUNDERLICH.DE complete your BMW.

M8x45
19Nm




Anbauanleitung | Fitting Instruction | Istruzione | Instructions
COPY

i Instrucciones
IGHT BY WUNDERLICH
WWW.WUNDERLICH.DE

@ Wunderlich

complete your BMW.

» ¥ we

|




